/DVIRB

*UXSD 5RINiDG =03 * 5 DU  7\J
o
®
=
n
oD
)
—_
o
=
)
7] 7] 7] 7\6]
= [HIHIAND SHGIDIAF]QD GU . UDZFT\N = [HIHIAND SHGIDIAF]QD GU .UDZFJ\N-RIDQID $ =03 = 5 =D “IHIHAND ,, PJU .UJ\TDQRZVND = [HIRSURILDNINND PJU *RQINRZVND
-RDQD $  z03°5 - ‘ -RDQID $%  -03°5 & DIRIQD$  -03°5 =Dl
7\G]
™ 7] = IHIHAND ,, PJU -UJ\NTDQRZVND 7\G] AC] -
_ “IHIHAND ,, PJU .UJ\TDQRZVND -RIDQID $% 03 "5 & = [HIHIAND SHGIDIAF]QD GU - UDZF]\N YRIHFKQRIRJID TNZQRGFL PJU TDIWNL
-C]\WREF\ 03" 5 -RIDQID $% 03 "5 = -RDQID $  z03°5 & SUNDGLXV] $% 035 /
& ‘ 7\6]
— 76l “HIHINND ,, PJU .UJ\TDQRZVND 7\G]
1 = [HIHIAND SHGIDINF]QD GU . UDZFT\N RDQD $ 03 -5 =D = [HIHIAND SHGIDIAF]QD GU . UDZF]\N
“IHIHAND ,, PJU .UJ\TDQRZVND -RDQID $  .20387(52:$ -0 RDQD$ 03 -5 &
-RDQD $  z03°5 - 35 =Dl 7\6]
—_— ) _RIDO ) -g =03 -
== == LH‘/A;U.D\UND SHGLDIN\F]QD GU .UDZFT\N -RIDQID $ 20387(52:$ 03 " 5
= [HIRSURILDNINND PJU *RQINRZVND = [HIRSURILDNINND PJU *RQINRZVND
.DIRIQD$ 03" 5 . DIRIQD$  :-03-5 =Dl 7\6] 7\6]
— — “[HIHAND ,, PJU .UJ\TDQRZVND = [HIHIAND SHGIDINF]QD GU . UDZFT\N
1 1 -RDQID $  .20387(52:$ -0 -RDQID $  .20387(52:$ -0
a “IHIHAND ,, PJU .UJ\TDQRZVND “IHIHAND ,, PJU .UJ\TDQRZVND 35 =-Dl 35 =-Dl
= -RDQID $  .20387(52:$ -0 -RDQD $  z03-5 -
o 35 =Dl 7\6] 7\6]
< 7\G] YRIHFKQRIRJID TNZQRGFL PJU TDIWNL = [HIRSURILDNINND PJU *RQINRZVND
7\G] = [HIHIND SHGLDIAF]QD GU . UDZFT\N SUNDGLXV] $% :03"5 / _DIRIQD $  .20387(52:% -0
= [HIHIAND SHGIDIAF]QD GU - UDZF]\N -RDQID $  .20387(52:$ -0 35 zDl
-RIDQID $% 03 -5 = 35 zDl 7\6]
— — “IHIHAND ,, PJU .UJ\TDQRZVND ney
1 1 RDQD $ 03 -5 =D “IHIHAND ,, PJU .UJ\TDQRZVND
= [HIHIAND SHGIDINF]QD GU . UDZFT\N = [HIHIAND SHGIDINF]QD GU - UDZFT\N -RDQID $  .20387(52:$ -0
-RDQD $ =03 -5 - -RDQID $% =03 "5 7\G] 35 =-Dl
“IHIHAND ,, PJU .UJ\TDQRZVND
7\G] 7\G] -RDQD $  :03°5 &
“IHIHAND ,, PJU .UJ\TDQRZVND “IHIHAND ,, PJU .UJ\TDQRZVND
-RIDQID $% 03 "5 = -RIDQD $%  -03°5 & 7\6]
= [HIHIAND SHGIDIAF]QD GU . UDZFT\N
ney ney -RDQD $ :03"5 &
“IHIHAND ,, PJU .UJ\TDQRZVND “IHIHAND ,, PJU .UJ\TDQRZVND
-RDQD $  z03°5 - -RDQD $  z03-5 -
7\G]

= HIHINND ,, PJU .UJT\TDQRZVND -RIDQID $
DU

.20387(52:% 03" 5




/DVIRB

" HIRSURIWDNINND P JU *RQINRZVND

-DURIQD $ 03" 5

_DURIQD $

" HIRSURIWDNINND P JU *RQINRZVND
03" 5

*UXSD 5RINiDG =03 * 5 DU 7\J
7\G] 7\G] 7\G]
9RIHFKQRIRILD TNZQRGFL PJU TDWNL SNDGLXV] $% 03"5 / T\ZIHQH NIQLFTQH GU ODIXU (ZD $ 3IHUZV]D SRPRF SUTHGPHG\F]QD 6]\PDEVN.aXNDV] $% =03 = 5
03-5 = =Dl
7\G] \G]
= [HIRSURIIDNINND PJU *RQINRZVND T\ZIHQH NIQIF]QH GU OD]XU (ZD $% 7\6] ) 7\6]
_DIRIQD $  .20387(52:% -0 03"5 = 3LHIZV]D SRPRF SUJHGPHG\F]QD 6]\PDEVN. aXNDV] $% =03 " 5 3UJHGPLRI VZRERGQHJR Z\ERIX = Gl
35 =Dl ‘ ‘ =Dl oD]XU(ZD$ =03 "5 =
03 "5 - z03°"5 ot
7\6] 7\6] 03.5 =
9RIHFKQRIRILD TNZQRGFL PJU TDWNL SNDGLXV] $% 03"5 / 3UJHGPIRY VZRERGQHIR Z\ERIX = Gl —
ODIX! (2D $ 03" 5 = 1
7\G] 7\G] 035 : :03°5 = 3UJHGPIRY VZRERGQHIR Z\ERIX = Gl
3UTHGPIRI VZRERGQHIR Z\ERUX = GU |||3U]HGPIRIVZRERGQHIR Z\ERIX = Gl t0s.5 - (?Do]éu_(é') . 623_ 55 -
oDIXI(ZD$  :03°5 = oDIXI(ZD$  :03°5 = NG t03.5 -
[a] t03"5 = 0375 z t03"5 = t03°"5 z _] ; - - Z
2 03.5 = 03.5 = 9RIHFKQRIRILD T\ZQRGF. SIRI G KDE
= %RUDINEVNL-DQXV] $%  -03 " 5
0 7\6] 7\6] -
3 3UJHGPIRY VZRERGQHIR Z\ERIX = Gl T\ZIHQH NIQLFTQH GU ODIXU (ZD $ —
oD\ (ZD$ 03" 5 - 03°5 = el
035 : :03°5 = 9RIHFKQRIRIID T\ZQREFL SURI GU KDE
:03.5 - %RUDNEVNL-DQXV] $ =03 " 5
7\6] -
3LHIZV]D SRPRF SUJHGPHG\F]QD 6]\PDEVN. aXNDV] $% =03 " 5 TG]
=Dl * [HIRSURIIDNIND PJU *RQINRZVND
DDIRIQD$ 03" 5 .
7\G]
3IHUZV]D SRPRF SUTHGPHG\F]QD 6]\PDEVN.aXNDV] $% =03 = 5 NG] .
=Dl 9RIHFKQRIRIID TNZQREFL SURI GU KDE
%RUDNEVNL -DQXV] $% 03 * 5
7\G] 7\G] :




